Newton’s Laws of Motion Review                                Name_________________________________
____
1.
A sled sliding on a flat, icy surface with a constant velocity is best described by

	a.
	Newton’s first law of motion for objects at rest.

	b.
	Newton’s first law of motion for objects in motion.

	c.
	Newton’s second law of motion.

	d.
	Newton’s third law of motion.


____
2.
If an action force is a cue ball (white) hitting a billiard ball (various colors) when playing pool, then the reaction force is

	a.
	exerted on the table.

	b.
	exerted on all the other billiard balls.

	c.
	not present.

	d.
	exerted by the billiard ball on the cue ball.


____
3.
A crumpled piece of paper hits the ground before a flat sheet of paper because

	a.
	the acceleration of gravity is greater on the crumpled paper.

	b.
	there is more air resistance against the flat paper.

	c.
	the crumpled paper is more massive.

	d.
	the crumpled paper is less massive.


____
4.
According to Newton’s first law of motion, a moving object that is not acted on by an unbalanced force will

	a.
	remain in motion.
	c.
	change its momentum.

	b.
	eventually come to a stop.
	d.
	accelerate.


____
5.
How does Newton’s third law explain how a rocket takes off?

a.  The rocket’s acceleration is positive, while the gasses acceleration is negative but the direction is the same.  The motion is therefore both “equal and opposite”

b.  The rocket is at rest until ignition.

c.  The hot gasses move in one direction, while the rocket moves in the opposite direction but with equal force.

d.  The hot gasses cause global warming.
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6.
Look at the Figure A above. Why does the block not move?

	a.  no force applied

	b.  frictional force

	c.  surface friction

	d.  kinetic friction


______   7.
If a force of 26 N is exerted on two balls, one with a mass of 0.52 kg and the other with a mass of 0.78 kg, which ball will have the greater acceleration?  (F=ma)

a.  The one with a mass of .78 kg will have the greatest acceleration.

b.  The one with a mass of .52 kg will have the greatest acceleration.

c.  They will both accelerate at the same rate.

d.  Neither will accelerate.

Matching

____
8.
Acceleration is caused by a force acting on a mass.

____
9.
For a force on an object there is an equal and opposite force.
____
10.
Without any force to change it, an object at rest stays at rest and an object in motion stays in motion.
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